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QUESTION 1

What are two advantages for using the count parameter on a security policy? (Choose two.) 

A. to see if the policy is temporarily not being used 

B. to see how many times users log in to the ScreenOS device 

C. to count the total number of bytes of traffic for that policy 

D. to see any NAT traffic drops for that policy 

Correct Answer: AC 

 

QUESTION 2

What is an aggregate interface? 

A. An aggregate interface binds two physical interfaces together to create a redundant interface. 

B. An aggregate interface is used for VPN tunnels. 

C. An aggregate interface is the management interface. 

D. An aggregate interface binds two or more physical interfaces that share the traffic load. 

Correct Answer: D 

 

QUESTION 3

What are three required policy elements? (Choose three.) 

A. source address 

B. protocol 

C. service 

D. log 

E. destination address 

Correct Answer: ACE 

 

QUESTION 4

Which ScreenOS security feature helps protect against port scans and denial of service attacks? 

A. session-based stateful firewall 
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B. Screen options 

C. security policies 

D. IPsec VPNs 

Correct Answer: B 

 

QUESTION 5

Based on the output shown in the exhibit, in which log were these events displayed? 

Date Time Module Level Type Description 2012-11-30 12:49:41 system warn 00528 SSH: Password authentication
failed for admin user \\'firewall-user\\' at host 

10.210.62.67. 

2012-11-30 12:49:41 system warn 00518 ADM: Local admin authentication 

failed for login name firewall-user: invalid login name 2012-11-30 12:49:28 system info 00536 IKE 66.129.232.26 Phase
1: Retransmission limit has been reached. 2012-11-30 12:42:23 system notif 00531 The system clock was updated from
primary NTP server type 209.244.0.5 with an adjustment of 234 ms. Authentication was None. Update mode was
Automatic 

A. event 

B. self 

C. login 

D. traffic 

Correct Answer: A 
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